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No. EELM (EREE #EFES FriEHh X & * () *(F/B) X(BA)  A(5R)
1 #)ETFEH PR #t =450 ] W5 T 4 ) 1 BT =2 1 384.91 29,800
2 XEEHAfE AR 0 ER sB #t AR TEFHXH 1 335.12 *
S{ZRIIEEAE HhAE(T 738 SB #t AR TEHIZRII 1 329.00 50 % 50
4 FTHEHTFHIUD TE #t HAR THHTFEW 1 275.91 30,000 50 * 50
5 ErEHRGHE ZL #t BERE EREMEYZE 47 258.72 24,730
6 THEMTHIWI TE #t HAR THHTEW 1 256.86 20,202 50 * 50
7 2@V RELR Sz 250 EmmEdILET 9 245.67 19,000
8 AU =47 kA L AL CDEHI DC #t Z450 AEETFIURHFER 5 243.09 28,000
9 fun =R 49 EEMNEILABFG ow #t Z450 AEERTFILRHFER 4 242.62 28,000
10T THESE(THWNMH IR KF $#t EE HMEMEKR 25 241.97 53,000-80,000
11 AEZEFE/ £ PR #t Z450 B T A AT 1 195.22 22,000
12 N—E2-YTREMNRE cv # AR KENFNEE 4 188.96 24,000
13 PR L3 SE #t BE FriR™T E#FH 5 184.37 23,000
14 21| BT B BD #t M=) SEEEE]IET 3 155.95 14,000
15 KFFH 7 T ih X B 21 LK #t Z50 KFEFHEFNHE 3 141.25 18,950
16 7Y—un—95% X SN #t Z450 AEETHREIEEE 3 125.64 24,500 50 50
17 9Y=-un-)—EXE SN #t Z450 —EmXE 3 124.75 18,500 20 20
18 7 )—unN—HEARX = IR SN #t Z450 AEETERHXERE 1 102.37 26,000
19 9Y=unN-)—E%x SN #t Z50 —BEhx 1 101.66 18,800 20 20
20 BiEE EA Z50 AEEHMRERX 1 94.73 12,000 300 * 300
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